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1101 [ X418 GhH 5 50 0 50
1113|FEAS | 188 1880 0 1880 10 0 0 0 1458 0 1134
GhH 188 1880 0 1880
1141|5848 me 4 20 0 20 5 0 0 0 2592 0 972
GhH 4 20 0 20
12018 TRk 100 1200 0 1200 12 0 0 0 0 540 0
4 68 1020 0 1020 15 0 0 0 0 972 0
& 168 2220 0 2220
1203[F ¥Ry [EH 30 300 0 300 10 0 0 0 0 702 0
& 30 300 0 300
1205[[F>NAE [EE 848 339 339 0 0.4 151 0 54 0 0 0
ED 848 339 339 0
1207[F& GH 1228 193 193 0
1209 B & B 5 15 0 15 3 0 0 0 0 1512 0
(&) 5 15 0 15
1301[#aF S 24 48 0 48 2 0 0 0 864 0 702
=40 1280 384 0 384 0.3 0 0 0 97 0 92
=5 16 80 0 80 5 0 0 0 0 1512 0
(&) 1320 512 0 512
1311[FRE BEX 129 516 0 516 4 0 0 0 1458 0 972
(&) 129 516 0 516
1321 [HA R mE 114 570 0 570 5 0 0 0 1620 0 1188
BiE 74 370 0 370 5 0 0 0 1620 0 1188
=H 24 120 0 120 5 0 0 0 0 1080 0
=i 30 150 0 150 5 0 0 0 0 1404 0
(&) 242 1210 0 1210
1331 [MFB» (=2 —D—FU| 15 150 0 150 10 0 0 0 0 1944 0
Eh 15 150 0 150
13B1[E—<>  [&5 2400 360 0 360 0.15 0 0 0 70 0 65
Eh 2400 360 0 360
1353| Tk =5 90 9 0 9 0.1 0 0 0 173 0 130
Eh 90 9 0 9
1403 | KB = =) 30 30 0 30 1 0 0 0 0 1296 0
Eh 30 30 0 30
1407 |EBHE L 30 60 0 60 2 0 0 0 1404 0 540
Eh 56 64 4 60
1409| FEF (&) 18 72 0 72
1501 [ H & S 4 20 0 20 5 0 0 0 1404 0 1296
(&) 4 20 0 20
1541 [ EH EE 230 2300 0 2300 10 0 0 0 1728 0 1296
(&) 230 2300 0 2300
1603[ L) —  [EE 8 80 0 80 10 0 0 0 3780 0 3240
(&) 8 80 0 80
1607|HU257 [#E 5 30 0 30 6 0 0 0 0 1188 0
(&) 5 30 0 30
1609|Javaly  [&Jl 20 120 0 120 6 0 0 0 2916 0 2376
(&) 20 120 0 120
1627[2=k=k  [&FJI 60 12 0 12 0.2 0 0 0 0 124 0
S 78 234 0 234 3 0 0 0 1296 0 864
[&D) 265 284 0 284
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1705+ &= =0 720 58 0 58 0.08 0 0 0 119 0 108
& 720 58 0 58
1803 | EHEE BmE 300 30 0 30 0.1 0 0 125 0
S 30 6 0 6 0.2 0 0 66 0
GD 780 81 0 81
1807|#8E E& 1290 258 0 258 0.2 0 73 0 68
GD 1290 258 0 258
1809|L&HL EH 1000 100 0 100 0.1 0 0 38 0
% 2580 516 0 516 0.2 0 86 0 80
& 3580 616 0 616
* SREET * 25502 23172 875 22296
2701[7—ILR |8 1 9 0 9 9 0 0 14040 0
[&D) 1 9 0 9
* S EEET * 2 18 0 18




